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SR HY I7 3TGTSAT SRR M A 8 WGl dhes R AT guT fhHdIeR Tepur ot e Fas.

9. 0% R.83I% 3. 44% 8. 60%

The hardware superstore is selling the paint I want at "3 tins for the price of 2". This weekend I can
get a further 10% off with my loyalty card.

Select the overall reduction from the full price if I buy three tins of paint this weekend.

1. 40% 2. 43% 3. 55% 4. 60%

. 80,000 I FaURp FD 30T S[eh &R F=idl ASTd Jdel! 2. FD @R a1fiis 1% 37fr g &R Jaid
ISFHER d1MYeh 9% TR ¥R TS URaTal bl Slal Al dretatht g aufer $fe. Qi asiT,
fasTetell M . §,000. B R FId IS ddciell I8H &l FD A& Jddeled] IBHIET STRA 3778,

FD 37for S1e &R §9d A JddetedT IHd TUIR fohdlt 3118 ?

9. 3:R RR:3 3.9:3 8.3:19

An amount of Rs. 40,000 is invested in an FD and in a Post Office saving scheme. The return on
the FD is 9% per year and on the Post Office saving scheme 1s 7% per year on simple interest.
The duration of both the schemes is two years. After two years, the earned amount of money is
Rs. 6,000. The amount invested in the Post Office saving scheme is greater than that of the FD.
What is the ratio of amount invested in the FD and Post Office saving scheme?

1.3:2 2.2:3 3.1:3 4.3:1

SR T ¥ dIfeh .24% TS TSIl o 2 Jufd ¢, 94 Sddhl gid, o) ot &Y fhdt 3mg ?

9. . 3,000 R. ¥. R%,400 3. B. *Y.000 8. 0. 4,40
If a sum at simple interest 6.25% per annum amounts to Rs. 28,125 in two years, then the sum is:
1. Rs. 24,000 2. Rs. 24,500 3. Rs. 25.000 4. Rs. 25,250

ITSTAT FHIRID HISUN B, 8,000 R T3 Alg~IAIS! alf¥eh 0% X Tshale TSl fohal 3RIeT?

9. 9,938 R. 9, W 3. 9,3 8. 0. 9,4
Compound interest on Rs. 4,000 for nine months at 40% p.a. compounded quarterly is :
1. 1,124 2.1,224 3.1,324 4.Rs. 1,524

A 3TTOT B 2 Uep SRTdleh b 3ehH R0 feasia SATfoT 92 feasia quf &< erehirl. A STfoT C g I i
0% T R fCaid quf &% AehaTd. A = Uohca™ T /4 T Ut dhefl. B 31for C It fiese Idfva
9 R Q. 9% 3.94 8. 9%

A and B can complete a certain work in 20 days and 12 days, respectively. A and C can complete
60% of the same work in 9 days. A alone completed 2/5" part of the work. B and C together

completed the remaining work. In how many days was the whole work completed?
1.12 2. 14 3. 15 4.16

TE 9 9 7 & QEIRISHTS IuGeh HLTHIE : IfgATa aravht 9 s / 3¢
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Teh GPMGR 90 2. AT 94 37 WG el 90 377l 94 DU AT FHTOI fefehel] TR AT 2ApST ThT el
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9) Yo Q) && 3) Yy %) 9]y

A shopkeeper buys 15 mangoes for Rs. 10 and he sells 10 mangoes for Rs. 15. What is percentage
profit of shopkeeper ?

1) 50 2) 66 3) 75 4) 125
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